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QUESTION NO: 1

What could a vSphere administrator use to move a group of VMs to another port group?

A. Network I/O Control

B. IP hash

C. Network Port Binding

D. vSphere vMotion

ANSWER: D 

QUESTION NO: 2

A vSphere administrator is deploying a vCenter Server 6.7 with an embedded Platform Services Controller. During the 
installation the vCenter Server and Web Client installers display this error:

Could not contact Lookup Service. Please check VM_ssoreg.log…

What are two possible reasons for this error to occur? (Choose two.)

A. Firewall ports are blocked.

B. Certificates are invalid.

C. Time on the host machines is out of sync.

D. vpxa service is stopped.

E. SSO credentials are incorrect.

ANSWER: A C 

Explanation:

Reference: https://docs.vmware.com/en/VMware-vSphere/6.7/com.vmware.psc.doc/GUID-B8D60389-AF95-4368-8AB2-
D282CBE0C4A9.html

QUESTION NO: 3

What is a benefit of using resource pools?

A. Increased visibility of user activity
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B. Increased vMotion efficiency for a set of VMs

C. Increased accuracy for proactive resources for a set of VMs

D. Increased ease of reserving resources for a set of VMs

ANSWER: D 

QUESTION NO: 4

An administrator configures vSphere Replication for a DR site.

Which two items should be deployed at the second site? (Choose two.)

A. array-based storage

B. vSphere Replication appliance

C. vCenter Server

D. vSphere Distributed Switch (VDS)

E. vSphere Data Protection (VDP)

ANSWER: B C 

QUESTION NO: 5

What provides certificate and license management services?

A. Auto Deploy

B. Unified Access Gateway

C. vCenter Service

D. Platform Services Controller

ANSWER: D 

Explanation:

Reference: https://docs.vmware.com/en/VMware-vSphere/6.5/com.vmware.psc.doc/GUID-FE4E0496-A14C-4331-A7D6-
1200F7C068A5.html

QUESTION NO: 6
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Which two tasks are allowed in the X-Lence data center? (Choose two.)

A. User C can convert AX-850 to VM.

B. User B can delete from disk XRK-01.

C. User A can take a snapshot on XRK-01.

D. User A can take a snapshot on AX-1000.

E. User C can view configuration of AX-1000.

ANSWER: B D 

QUESTION NO: 7

An administrator is installing a Platform Services Controller instance.

Which two options are available during the installation process? (Choose two.)

A. choose deployment size

B. specify vSphere administrator credentials

C. enable Enhanced Linked Mode

D. create a vCenter Single sign-on domain

E. join an existing domain

ANSWER: D E 
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Explanation:

Reference: https://docs.vmware.com/en/VMware-vSphere/6.5/com.vmware.vsphere.install.doc/GUID-AD3C6884-C1CC-
4A2A-A3731BA240C44C38.html

QUESTION NO: 8

A vSphere administrator is required to join all strategies ESXi hosts to an Active Directory domain for enhanced security. 
Which utility would accomplish this?

A. Unified Access Gateway

B. vSphere Update Manager

C. vSphere Authentication Proxy

D. vSphere Auto Deploy

ANSWER: C 

QUESTION NO: 9

VMs are violating affinity rules and DRS is unable to correct the rules violations. 

Which two actions should an administrator take to identify why DRS is unable to satisfy the affinity rules? (Choose two.) 

A. Review VM Overrides tab. 

B. Review systems logs. 

C. Review if violated rules are in vCenter VAMI.

D. Review Faults tab in DRS. 

E. Review VM OS logs.

ANSWER: A D 

QUESTION NO: 10

An administrator has an environment with these conditions and requirements:

 The host provides 6GHz of CPU and 32GB of memory

 The host is shared between the Marketing and QA departments  The QA department needs a higher compute resource 
priority

How can the administrator meet the conditions and requirements?

https://dumpsarena.com/


DumpsArena - Pass Your Next Certification Exam Fast!
dumpsarena.com

A. Adjust NIOC or SIOC as appropriate to give the QA department a higher compute priority within the cluster.

B. Create a resource pool for each department and use the Shares attribute to prioritize the allocation of resources.

C. Assign affinity or anti-affinity rules to the appropriate VMs for each department.

D. Set the VM priority to high for QA department VMs and normal for Marketing department VMs.

ANSWER: B 

Explanation:

Reference: https://pubs.vmware.com/vsphere-51/index.jsp?topic=%2Fcom.vmware.vsphere.resmgmt.doc%2FGUID-
3BD591CC-F685-4843-A46E836B33E91B3E.html
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